OLEmfe--- 3 NABEHERTEHS
AT, Bk SRS MRAR

R

1
A N,
e

—. H—E., (315, k2240
1. =J)\( ) Ti( =TT ( YN T =
VAV QD B (RS 1'l' b o/ ANSRY QR s sty VN
2. (EFET5 HIH FEE R BAL,
— W E R 6 )EYEK 18( )
URIEARR 10C ) ARRBHLANE B A Z 2 )

‘ “''i'“'|““I''“||“'I““|““I““|““I<:lI LI III%“l““lIIII LLLLI L

I
0 1EX 2 3 4 5 6 7 8 9|

TR VEOK, BB EK.
4. 5+5+5=( H)X( )TX6+7=( HIX( )
5. b2 Z 18 I%E( ), S6tb14E( ).
6. =&, HH. .
BB HECK, HEK 2 BEORMZERBRZ(  )EK.
7. 8. 0. 2 AL, BRI E A B A H AN —
B, ATUUVAHEC D AFEBP AL E, HoAa KR AR
C )
TN CFRVE VT, BRRYE X )& L s 3RS )

1. 1. 7+7+74+5 A ULH 7X4—2 RKitHE. ()

2. BRI A E ARG ARSI R EAKMAE. ()
3. HIMREHE A 6, BUZE12. ()

4. EFN3ERI6, ET 30 ()

;;EQ e, T8, ER, EIRFAHTD
Bl ST, AIEESHRAE




OSmK--- S HEHERSHS g
1T, BAREESHRRE

5. fEE—HRTF L, ZIE 12 3 FMZE 2 2 4 Z R HHE S K.
«C )

=, ik, (B 1, HL59))

1. ¥ S, 16, 24, 32, (), eoee , FESHIFEC ).
D38 @8 340

2. = NZAREAC MBI
@01 @2 33

3. BEAHMHITY, MESF 108, 10 FFEELNRTRC )
% .
47 @17 327
4. R 643 MFEZ D, FI N ).
D6X3 @6+3 (36—3
5. 3 M5, 8. 10, ERIEHILF 2 ARM, BEAEC )L

FhATHE o

M1 @6 63
W, H—8. Qi 67, HREFEI 7r, 324 7)
1. OH,

4X 7= 75—50= 3X 8=

80—8=6X9=54+30=

9+34=56+13=32+15=

2. EQEiEJ: «_|_» “__» «X” Ez «>» «<» «:»o

SRS s, T8 B, BRI
3 IS TH, DUREESHEAR



QSR SENFEHERSES  hit
1T, BAREESHRRE

4@226 9@227 5X 9@50
8@3224 8@5240 7><8©54

3. HIEAIT5.

27+58= 91—36= 100—(26+18)=

1.

B . (B 6 7, L 12 99)

1. PUNHEMLBONIL, srnlm— i, BA. Bif.




OSRG-S FBHERSHES i
1T, BAREESHRRE

2. 5 AN IS TR], R A

1.
A it ¥
hig £ 14 H 50 K Fe /s 28 1
(EHEZ/DbH? ) EZ />R ?

2. HREFEER, FHIERIEH, 80 Julk 10 Jo. WL
AN— LR 2 DR ?

357G

3. [AIATRERY, R T 28 K, =AEGEL R 15 B

i 'E o == W o
BES e, o, B, ERTHID

Saes O, TSRS HEAE



OSRG-S FBHERSHES i
1T, BAREESHRRE

SARRE 1 2R ARG 2 DR

4. (1)K 9 A REERT 2 AR

(2N T 6 A HBERA—E BRI, 8B R 50 6. /)

AR ALY

EREYS hE, b, B, SR
% 15T, DAREESRAR



OSmK--- S HEHERSHS g
1T, BAREESHRRE

TR
— 1=+ & & #+HY JU I
2. Kk JEX 4o B 35 2 43 5 7 7
5.90 42 64 6 7.4 82
1A 24 3x 4x 54
V1.3 22 3. 4.0 50

MO, 128 25 24 72 54 84 43 69 47
2

1]

D+ — < o x x>

w

. 8 55 56

N

. 6x8=48(K)

\l,
-

£ 1.0

2. 2: 15 2: 30

8: 30 9: 00
I\ 1.(1)50+14=64(H) (2)64—28=36(H)

4 — I
SEea 1%, T, BR, RBIR T

SIS (T, AEEESEAE



OSRG-S FBHERSHES i
ST, AEREESRERR

2. 47+35=82(Jt ) 82—10=72(Ju)
3. 28+ 15=43(81) 28+43=71(#)

4. (1)9x8=72(JC)(2)6x3+25=43(Jt) 43<50 1%

i - 8
BES e, o, B, ERTHID

oy ST, ANEESHEAE



